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Prevention 
'�

Enabling Environment 
(�

Programme Management 
)�

Treatment, Care, & Support 

�����

Capacity development: 
Leadership 

�

1.1.1 Sustained leadership 
commitment 

�����

�

1.3 1 National policy 
devt. & law reform 

1.3.2 Sectoral & Instit- 
utional policies 

�

��
��

Interventions to reduce 
stigma discrimination�

1.4.1 Social mobilisation 
to combat 
discrimination 

1.4.2 Actions to prevent 
& address 
discrimination 

2.1  
Capacity development: 

prevention 

�����

Target vulnerable populations�

2.1.1 Capacity 

�����

Target young people�

2.2.1 Target BCI for 
vulnerable populations  

2.2.2  Prevention of 
transmission in health 
care settings 

��
��

Target the general population�

2.4.1 Social mobilisation       
& awareness 

2.4.2 Workplace 
programmes 

2.4.3 Expand condom 
provision 

2.4.4 Strengthen STI 
management 

3.1 
Capacity development: Treatment, 

care and support 
�

3.1.1 Capacity          
development 

3.1.2 IEC to support 
expanded treatment, 
care & support 
programmes 

�

3.2.1 Laboratory services for 
HIV/AIDS management 

3.2.2 Drugs & supplies systems  

 

3.2.3 PMTCT+ services 

3.2.4 Management of 
opportunistic infections 

3.2.5 Collaborative TB/HIV/AIDS 
services 

3.2.6 Provision of HAART 

3.2.7 Home-based care  

3.2.8 Access to care for 
vulnerable populations 

4.3.1Addressing poverty, 
food security, nutrition & 
housing  

����

Developing of HIV/AIDS 
management capacity  

�

�5.2.1 Management structures 
 
  5.2.2 Resource mobilisation & 

flow mechanisms 
 
  5.2.3 Information flows 
 
  5.2.4 Mainstreaming 
 
  5.2.5 Management processes 

����

Programme monitoring & 
evaluation�

 
5.4.1 Multi-sectoral HIV/AIDS 

research  
        coordination 
 
5.4.2 Surveillance & 

Research  

5.2  
Management & co-ordination 

 

5.3.1 Monitoring & evaluation 

����

Treatment and Care services�

5.4 
Surveillance and operational 

research 

2.3.1 BCI in schools  

2.3.2 BCI for youth  

�����

PLWHA involvement�

1.2.1 Increase 
participation 

2.5 
Interventions to reduce 

vulnerability�

     2.5.1 Addressing vulnerability 
      

4.1.1. Establish, strengthen 
& support communities to 
take action to respond to 
HIV/AIDS/STIs and TB.�

4.1.2 Develop the 
capacity of local support 
groups of PLWHA and 
their families 

4.2.1Comprehensive 
services for OVC, their 
carers and PLWHA 

4.2 
Services for OVC & 

PLWHA 

4.3 
Addressing poverty 

*�

Impact Mitigation 

4.1 
Capacity development:  

Local responses 

MTP3 III National Programme Goal 

5.1.1 Human resource 
planning 

5.1.2 Human resource 
development 
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Access to New Start Centers (2006)

Map prepared by SMA, July 2006

Data Source: SMA, Atlas of Namibia and Population Census 2001

Radius Population Access (%)
10.9 km 581278 31.8
20.1 km 752914 41.2
31.6 km 977740 53.5

Total Population 1826094
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